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Instructions :-
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All questions are compulsory.

Question No. 1 to 5 are objective type quéstidns.

Internal options are given in question no.6 to 26.

Marks allotted to each question are mentioned against each question.
Draw neat and clean diagram wherever required. |
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g1 "8 oo gaex folked —

(i) m(ﬁ@mﬁaw%~

(a) @, o (b) STEIT vt
(c) 3T 3:|'.:|Ta'é’f (d) - 1.732
(i) IBUE p(x) = 2x+5amgm?ﬁ%‘- |
@ = | ® =
S (@), §
(ifi) FHFIT 2x +3y =12 FA § —
(@) (-3,2) () 2,3
) (3,2) () 2,-3)
(iv) | Jeui BT AT/ eIl BT el Al =
(a) WIS (b) d¥gI®d
 (¢) WEm d &% TH
(v) ©F @ I $T 9A 8, IS9P PR Bl g a © -
(a) 6a? (b) - 2°
(c) 4a* (d) a2

Choose the correct bption -

(i) Decimal expansion of number V3 is - . |
(a) Terminating (b) Non-terminating recurring
(c) Non-terminating non-recurring (d) . 1.732°

(i) Zero of polynomial p(x) =2x+51s -

(5X1=5)

woo durjuopreoqdur mmm//:dny

@ = . O
© % @ 7
(iii) Solutions of equation 2x + 3y = 12 are -
@ (-3,2) () (2,3)
) (3,2 _ d) (2,-3)
(iv) Sum of all observations/ No. of total observations is -
(a) - Median ' (b) Mode .
(c) Mean ~ (d) None of these
- (v) If the edge of a cube is a, then the volume of cube is -
(a) 6a’ (b) a°
(c) 4a° @) a
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j%aﬁ wH 3 i Hif —
(i) FIABAT BT SRBTH A, ... BT 21 (O
(i) 019 A = R #rex | (1900/190)
(i) TETR XX+ T H BT T (L)
(V) 2 BT Ao B | (1/0)
Fill in the blanks - .

‘ (i) 'The value of abscissa of the POINE (3, 5) 8.0 eevvereeesreereeeeeeeiirennnn, (3/5)
(i) The maximum value of probability is...... e (0/1)
(i) 0.19km=........cocoo...... et oo meter. (1900/190)
(iv) Inthe polynomiai x3-x24 1 the coefficient of xis.......... e (-1/1)
(v) Valueofa’is........ ettt ettt er et et et re e et (1/0)

Fr=foRa & w1/ 3 fafRey —  http://www.mpboardonline.com

() Tt M AT A g AT &1

iy WO BYeT TOTHE T 1 &1
(iii)* x-37&T T FHAIHYT x =0 B |

 (iv) -9 YR FE IRE e B R |
'(v) G Sl AR AN AT Je gD el B |

~ Write true/false in the following -

(i) The whole is greater than the part.

- (ii) The lowest negative integer is -1.

(iii) x =0 is the equation of the x-axis.
(iv) Every irrational number is a real number. -

(v)  The observation which occurs maximum times is called mode.

(5%1=5)

(5%1=5) }
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54 TP ¥R /AR F R AR —

() BT T B frer & e A iR

(if) wﬁﬁﬁ%wﬁﬁmaﬁmﬁwwaﬁ%ﬁ
(i) 42 @1 7 T o
(iv) > P Teer w3 o |

(V) . ¥ & AT T G T 22

Write the answer in one word/ sentence -

(1) Write the shaded region in fractional form.

i

N

(i) What is the probability of getting a head when a coin is tossed?
(iii) Find the value of 4 —-;— C
(iv) Write - in decimal form.

(v) What is the formula of volume of cone?

(51=5)

LﬁOO‘augluopmoqdw'MMM/ﬁdnq
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ys WE IS e -
(i) IR 5x-4x2+3 9 wrg 2 @
(i) PGE)+P(E)= ®)
(iii) TP ©1T dTcl 98UT Py BE § (©)
(iv) x-4=0FxFAA S| (d)
(v) ¥Lx+y=5 EFBFI\IEI%H@T%‘ (e
()
Match the column -
Column ‘A’ ‘
(i) Degree of polyﬂo’mial 5x -4x*+31is | (a)
(i) P(E)+P(E)= | (b)
(iii) Polynomial whose poweris 1,iscalled  (c)
@v) Value of x inx- 4= 0is @
(v) No. of solutions of equation x + y=5 are (e)
()
(g)
U6 WA DIV -
Simplify -

(5 +VZ) X (5 - V)

-Eﬁq rar
R Tguas
4 |1 . L

21

1'];

or

. LS

&
5

Column ‘B’

~ Linear polynomial

4
2
1
0
Infinite

5

(51=>5)

woo durjuopreoqdur mmm//:dny
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3141 / OR
8V15 BT 2v3 R 9T AR |
Divide 8YT5 by 2v3,
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W7 i g ¥ f[igel (4, 5) 9 (5,-3) @ @ PR AR
Locate the points (-4, 5) and (5, -3) in the Cartesian plane.
- 99ar/OR -
i T ¥ el Rig 9 Rerfd @) FiRe o e AR @ s vt
® A q@T Y

What is the name of horizonfal and the vertical lines drawn to determine the
position of any point in the Cartesian plane?

T8 S
AK_ 3cm - N
2cm
SURIFT 3T Dl &% FT SIT°
ey

B‘ .
IZcm |

D C
What is the area of ab_bve rectangle?
o ' arerar /OR

T B —

Solve —

O 3+

R | -
u.9 Aipel 14, 2.5, 14,28, 18, 17, 18, 14, 23, 22, 14, 18 BT oI T BT |

Find the.mode of datas : 14,25, 14,28, 18, 17, 18, 14, 23, 22, 14, 18.
o | 3erar/OR
Yo Uid Wigd e b1 Al S a9 |

Find the mean of first five natural numbers.

mo:ﬁ‘au;[uopléoqdw'mmmg:dnq

@)
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710 ﬁEFGﬁ}lWWﬂ@GABCDﬁTﬂmEﬁmﬁE , T gy
% ar (BFGH) = ar (ABCD) # | S @)

If EJF,G and H are respectively the mid-points of the sides of a parallelogram
ABCD, show that ar (EFGH) = 1 ar (ABCD)

sera / OR
ﬁ%wwﬁﬁmw‘:l% aws?r&aﬁr 15@!151’[‘%’ o TR
TS BT ETDH T B |

If the base of a paral]elogram is4 cm and its altltude 1s 1.5 cm, then find the area .

of parallelogram

41 X DINY —  http://www.mpboardonline.com _ (3
Simplify — |
= =
S uz S
é g 11‘4]:'. | é
= =
5 | . a1/ OR 5
= . ' =l
g | 1 g
g B BT IRATIRT BT . —=— 2
Q Q
= Rationalise the denominator : —— =
= ationa minator : —— 2
o) _ : o o
S w12 fefaRad Ras TERT Bl ax +by +c=03 wU # =@ HiT AR ab,e 8
PTAM gagd — 2x+3y=935 | ®)

Express the following linear equation in the form ax + by + ¢ = 0 and indicate the
values of a, b andc = 2x+ 3y=9.35

| o Jera /OR

TR 8x + 6 = 2x + 24 B &F BRI |

Solve the equation 8x + 6 = 2x + 24.
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T13 ey § ofy X+y=w+z & @ fig IR 5 AOB & Y@ 2|

i/ OR

i #, afe ABIIDE, ZBAC=35°3iR ZCDE=53°%, 4 ZDCE S B |

A______ B
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¥.14 ET??‘IT?FN Wﬂﬁﬁﬁﬂwﬁwwﬁmﬁmﬁaﬁqm

.15

9.16

Prove that a diagonal of a parallelogram divides it 'i'lit_o two congruent triangles.
N AT/ OR

el 7gdst & A B 80°, 60°, 100° &, T wT ey BT 51 AT

If three angles of a quadrilateral are 80°, 60°, 100°, t_heﬁ find its fourth angle.

ﬁﬁa@%mwﬁﬂmammaﬁm_

9¢m

Scm

Find the Perimeter and Area of given figure —

Ocm

Scm

ST /OR E
W%W@Hsa&ﬁ%lﬂﬁ%ﬁﬁﬁﬁmmaﬁﬁﬁwm~m
gicdT 2, d gar AF B e B fel?

Rohan has 560 marbles. If he distributes marbles equally among his eight friends,

then how many marbles each got? http://www.mpboardonline.com
frer Rig o ot ar argerfer & Rem &2

(1,2) (-5, 3), 4,-5),(-3,4),(0,3), (-5, 0)

At which axis or in which quadrant, following points Tie?

(1;2) (-5,3), (4, -5), (-3, 4), (0, 3), (-5, 0)

4)

woo durjuopreoqdur mmam//:dny

—
>

: gar / OR
| AEfA s@a Amfefad o fafay -
(i) B@& fws (i) fA<en® (-3, -2) gRT ggdrEr T4 fdg
(111) D zm ﬁm o (iv) AT @ife |
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See figure, and write the following —
(i) The co-ordinates of B (ii) The point identified by the coordinate (-3,-2)
(111) ‘The absc:ssa of the pomt D (w) Thc ordinate of thc pomt A

qi _.'-t'

woo surjuopreoqdur mmam//:dny
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.17 ?ﬂ?mﬁwmzoommw%amwhﬁawﬁ

IRIRATG A § —
fom | ofw | 2 fw | 1Rw [ wRAR S
JRER] 23 72 77 28

afq T Riept 1 g T HRT SBTe W a‘r%ﬁzﬁaﬁﬁmﬁwm
B |

Three coins are tossed simultaneously 200 times with the following frequencies
of different outcomes —

Outcome 3 heads -2 heads 1 head ~ No head
Frequency 23 72 77 28

If the three coins are simultaneously tossed again, compute the probability of 2
heads coming up.

3ar /OR

wﬁmﬁﬁwzﬁmﬁﬁmﬁawzﬁmzooﬁmﬁmwﬁwmm
Jips R & —

o | fenierr @y Hem
TS WA 8 125

UHq T8l BYd B 75

WA ST IS fb argesar g ar femdt —
i) - WiRere! wE BT El

(i) wiRerd wRig T B B

To know the opinion' of the subject Statistit:s, a survey of 200 students was

conducted. The data is recorded in the following table —

Opinion Number of students
Like 125 .
Dislike - 75 |

Find the probability that a student chosen at random —
(i) likes Statistics
(ii) dislike Statistics

(4)

‘526 [7206-A] | ,' Page 11 of 16
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.18 Wawaﬁmﬁﬁmaﬁuﬁaﬁmﬁﬁqaﬂﬁﬁwwg&

919

FfoR— (@)
(i) 60°
(i) 105°

Construct the following angles by the help of compass and scale and measure it

by using protractor —

i) 60°

() 105°
- | e/ OR . |

TS 9T ABC &1 @+r . @iy, forg¥ BC = 8 ¥, /B = 45“3?1?

AB - AC=3.5941 81|

Construct a triangle ABC in which BC = 8 cm, B = 45° and AB - AC=3.5 cm.

AT S Y — : | A

Find the sum —
7 2 3
+5 3 1

(1)

iy 2,2

3 S

A B —

(1) 3.75+295
(i) 5.05-3.9
Solve -

(i) 3.75+2.95
(i) 5.05-3.9
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Show that the angles of an equilateral triangle are 60° each,

$A9T/OR
%W%wmﬁwﬁwwmawmwm

gl
Prove that angles opposite to equal sides of an isosceles triangle are equal.
WWWW@%&T%IWW,ﬁmmiﬁﬁW?ﬂ I |

Suppose you are given a circle. Give a construction to find its ¢entre.

_ Jerar/ OR
5 WL o 3 WAL Fear At <1 g o1 figel w st B € qun o
Bl B @ %) g0 4 . }| TR o B FaE T BRT)

Two circles of radii 5 cm and 3 cm intersect at two points and the distance
between their cenfres is 4 cm. Find the length of the common chord.
YUHES HIFTY —  http://www.mpboardonline.com
27 - 1252° - 135a + 22522
Factorise —
27 - 125a° - 135a + 2252 |
@ / OR
p(x) = 3x*- 4x3-3x - 1 B x - 1 | T &1 TR U< B T B |
Find the remainder obtained on dividing p(x) = 3x*- 453 - 3x - | byx-1.

(4)

—
C)

woo durjuopreoqdur mmam//:dny
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¥.23 wmwmwaoaﬂ%mmmwuwm

ﬁ%|ﬁgﬁm$ﬁmwaﬂml

An isosceles triangle has perimeter 30 cm and each of the equal sildes is 12 cm.
Find the area of the triangle.

- ggar/OR
TP %Wﬁ@“@ ﬁgwsfr %] T 3:'5:7aﬂiw aRATT 300 . 2

The sides of a triangﬁlar plot are in the ratio of 3:5:7 and its_perimeter is 300 m.

Find the area of this plot.

Y24 TAE 14 WA, a0 T T Zﬁﬂ?:l S BTGB q&i’m PRHW 88@1%2%1 ELE|

?Baﬂaﬁ‘cmmwa?ﬁtfl

The curved surface area of a right circular cylinder of heigh_f 14 cm is 88 cm?
Find the diameter of the base qf _thc cylindélj.

| | YT OR
T T BT ST .ﬁﬁ-ﬂﬁﬁﬂ et quﬂ*m Sl 154 402 3 |

Find the volume of a sphere whose surface area is 154 cm?.

(6)

_——
<z

woo durjuopreoqdur mmam,//:dny
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wod suruopreoqdur mmam//:dny
xi
A
(=}

SHE @ B 98 B R uR Reeifier &1 AT 38 | g e BT D
x fPeHIey &1, ofR ot fmmar y2 &), ar DT X g Ry sk
IHST 3Ty Wi | | |

The taxi fare in a city is as follows: For the first kilometre the fare is ¥ 8 and for

- the subsequent distance it is ¥ 5 per km. Taking the distance covered as x km and

total fare as Ty, write a linear equation for this information, and draw its graph.

[ 'f‘«:'

T/ OR
DR x + 2y =6 Ufg ST & ?ﬂﬁ AT |
Find five -different solutions of the equation x + 2y_§ 6.
o 1 15 Rl 3 fo0 & e s s g
41,39,48,52,46,62,54,40,96,52,98,40,42,52;60l”

In a Mathematics test given to 15 students, the following marks (out of 100) are

recorded —  http://www.mpboardonline.com

41, 39, 48,52, 46, 62, 54, 40, 96, 52, 98, 40, 42, 52, 60

Find the mean and mode of this datz.

(5)

dur mmam//:dny

(8]
e

woo' aUI[uopIL0q
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Jdar / OR
TP ST W UP B D 51 Renfal R 100 ¥ QA g R ofe e 9ol A
€ - - |
3® | 0—10 | 10~20 | 20—30 | 30—40 | 4050 | 50~60 [ 60—~70 | 70-80 | 80—90 | 90—100 T
| BIn|
faenfefat | 5 10 4 6 7 3 2 2 3 9 51
N .
BiECa]

9 IRIRTT AR & I IRIRGT a5l Glrﬂsal‘

Consider th_e marks out of 100, obtained by 51 students of a class in a test, given

in table-
Marks | 0—10 | 1020 {20~30 30—40 | 40—50 | 50-60 | 60—70 | 70—80 | 80—90 | 90—100 | Total
No.of |5 10 4 6 7 3 2 2 3 ] 1 51
students

Draw a frequency polygon corresponding to this frequency distribution table.

http://www.mpboardonline.com
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